M= g a —+ e
"= m- 70

Wach deseq Glechier habe
oh'e @ﬁwn(’m] s (H,r)

G(M‘ﬂ.aéﬁm (?j

@eﬂgpw gp_mmt( p J/(?fé 294

91t =(2:2%¢ +228
294= (- 228 + 66
728 = 3. 66 + 30
c6=2-30 + 6
Zp=6§5.€¢€ + 0O

Aussabe - (?3778"_/4 274) =6




Ba‘sp;'dé.' i Ma.a/g\
Z wed 7 = 7 =

d (2 sind too.
S I
3 wod. &

AHFWMW%

7 Mﬂ/ wp = é ma-a/M |
eK. 9 Wﬂ(% Souor€ 1'!‘/!47‘

DMW . &

M+ r ond b= fm+r
i Z&;-cfd-m—f-r—-ffb-fw—?"
G ;?q-m-c,vb.%
é g
= m| a-5. :
>L_¢Lv~( %ek m [ a é.’/
g:i—a.—%—ewﬁ?;w
; 9 i Q*éz‘?‘”’f .
ik V), v
25’“/{0%@‘" %:H G) ?é,: Z

- 9 # /:b
.m-frq} é,_%
G_(=9'q
.4‘



m | a-b = Yo g =

2(%“?‘;)'”’"‘ (%-%).

=) V&"-VL ISF v A wa fz. lbeo.
(Jissem : 04 Ye,Vy LM

=) —M<L -1y <L iy

= G- V,= 0

D =, S

& wigel wn = & vigd wr

@e"sp;___@ (1) 2228 Cowdd 5)

23=24.5+3, €= £:5%3
52 - g =15 ,Sf@&rﬂg g?’tfﬁgd\)“

Q) —7=22 (woed3)
— 7 2——-? S ¢ d««r%gﬂw&
~Z=¢3.347
L =03+ 2
(3) €222 3 Il (mod 3)
@227 - =8216 b mkf
hrdh 2 tellas,




@eafspfe:(: a=112, wm=5

Lefwm= £.532 712,12 .5
Destelosseq mod § .

[0l = 5. =00 & /q__f
L1Tw =& =4, 1, ¢ 1, .. 7
L3 w? e, =B,2, 2. 12 -,
[3JH' zs_h/ “Zy 2, gf (3/ '“f
(4., f =l N

g a = B(w:n?/“q?/L b= C(WN&"")
L =) @ =C (w&&(M)
C.: azb (mmfwcjxt C= o/(waa/m)

= wmla-H anw/c-d,
Do n ¢ Lt WI( a+CJ (é:-HZ/)

et

-—@6-#&:0(

=) Q-m = L+cf ('Mw/m)



T 2u b 54l Cem)= 1,
ca =c b (vedm)
= cca-c.b=c (a-6)
= wmla-b
(f?'ff w %g;/(c,m)r-_z’)
Bespel ¢ $.3= 3.6 (wod§)
Hect sk 3[77(8]6) =2%1

Beeckle: g = é;(;cw{m]
=) €& = ¢ 5(t~:n/m)
' dea ce?. |

=> c.a =c¢. b (MMM/



G TE4T 22

'L@J:L!réf._(:i’
r"[T‘-I = f".gl,grwj v ﬁ‘

L?i__[: LZKMF‘._J-.*_B
41 = 1
12 = 2

FHW?{T- F’B,{(f.”j :-3
L‘?F_/ = __4(

TR e 1R

V' 2 W~ ?J’J = M"Z‘qu;q



N
7123 &

: h..

ac,."‘sfP‘ﬂ-Q

45
1§ ..M,;=22 4
2l = SEER
Il'fj. §€S53 ﬂ’{l’%ukg .,2:/ %?
1" »
. g‘!
AH] =




B-c!s.p_"tﬂf A, = {1, Z{ '53’ M =7017
ST P ‘ /
Ao x Ay xhy = 8(1,0,4),0,%),
(1,4,4),(1,1,8),
(2,0,4),2,9,%], (2,£,4,(2,1,8), .
(3,4 &), (3,0.8),(2,1,4), (3,1, 5)/?



M:qu,q"z/,,,} q#f
(r‘ I !_‘}
-ﬁ_‘*‘;‘;pe{
U ch Ler M”%/Z"Mﬁdmﬁff
?{éfﬁ Mé é'T“/“( v, EQwrecte,

vou M. é
[0 = [fre..xtal = 1t 1]
v Fohfovtn W Py

Mf—gafé,p;c/,c,:{? )
s gﬂb/‘ - /aéoég méuﬁ(
dém /7: m;&/wﬂ-&ﬂéh A /t(-

- iy ]

—— J
éTu,ﬂéC
ne(n-1) . (n=(e-1)

———




nl = (a-1)s .21

nt = an/!

/)

Wt o omln-l)- (-t
n! ula-1) Y2 A

-—-.

=a (51N T

- ”'/—- = f("?-f’}n.n/m-éﬁ]@,ﬁ;‘/ﬁ/
(- oot A
_ . (u-1). __‘ﬁ[h__é-”):h_é_
E_fa:gpfg(’
25 - 7.6 5
2l 205 L3271 553
?-3)! b1



M= E_ﬂ.,"‘z, n oy B

S |

Lo W eallich'
:Oa.mn &t f: M — H 21614&0(

.f,[f;?_bt!/l :'ud‘c%u/ L)em v ff,"bu'(*/‘ééﬁ'v
b,

Ecaf_p:'&g ‘.
o 1 2 3)
i = % 1 2

m(1)=3, wC)=1, 7(3)=2 i
7/,: f&wc‘z, ) ?n S

/

ng-’q"ﬁ; c(r;-.-_}a?j
4

I U
e Elemen ¢




<o
w
. £~
M_f{,&mhﬁ%
23

p@hh 9 b l-. ica(z
< k-TaFﬁé

b
o M
Aueaﬁs Z:ﬂ“{ w"d’-‘
_ e&wwm
.. g

Ve bunem

Q.

a

E)F—‘)f‘lu* ai}b
— kA

A

ot
/4M9a[-£ b ’:ﬁ%&}\;ééx /
el e H o
wl M£j !

L
¢ o bl alse "
- b_g,&m&qg
K

Ve lunes
0&" Vo~ M



CRuspill: H<F1,2, 35 4=2

(1,2) Fl ey

(2”}. g_g:__
32. (,3) NS 2!

(2]

2.3) f2,3]

(3,2)

(;t) Lird ?ﬁé@%«r M uba Q&.



&7&-&&4 Zeifln
_ (né—-// 7'_(14:/

() (]) ~ e s
. ! -
: e (w_/;/)/ o)l (n-8)!

k] \-%2) |
. (- b +4) (n- I;’ n-(
/U ol QM(:);){

) U(ué (Q

A
( ?: M'/__ #:l/II
:Z

,,, (9/(14 o)l nl
(1) = « 2
i(u n)l = {

_’;__







E&l C[pf'é’,é?} 1 @_)

{ 1 @
‘ 2 1 &
i s 3 1G)
‘1 « 6

L5 L
@+£) > a L »
* 210269+ 72456 4la
G+b) et ol &
/ /d"r
2 = 3+S'Q26f+3a6 " ‘
C@-HL?Z{' = ‘-:; +4 b +éﬁ?éz+é_a52éﬂ
U + A



BeuSeas oﬁs gau!f}% :

Tod B @+b)° = 1.4°4°
Iad(, S& ,,.,'/’(r ﬂmuoxb\u«ﬂ ?LU» /ﬂo:f WA,
@n-%b)“”: ((Z(:f-b)"v(d-fé)

03 () ot

;(23,0(?) q“-r‘éj~a + Zﬂa?f)au-{éjig
[ = &
U o o e
= Z(:’(’)aﬂ#-ry "f‘;;a(,‘“)a.ﬂ :b,_”
(20 =

S ! ey nWel—7, ¢
+/-1)1 n _ y
- j (rﬂ)ﬁu !J -—{— '2 (;ﬁf)q b
(=0 (=) |

Lo T+ ()

)
u+( ! o
() ety ~

( a—
(=20

)



